
$$DD\\DDXX<<\\DDNNDDRR66DD��
�
VDD4DDU1DW��G,'6DR�YD<DD�0S8YD,��FFD,D,I�I�VVD,D,HH77OODD�\DD�VDXMDD1D�$DL1D�VDYD�PDDQ\D�UR'�>0L'\DQD�ULKYDD6DDQDR�YDDAL6D0J7QD�6DDVDQDDODD,�MDR�
�\DD0F\DD� MDLPDQD,� ED/NDYD8� >LF&W� KDRWR,� HN�.UPDU,W� VD0GR6D� SD]LYDODD�� 3D\DD�YDU1DDYDU� HYD=\DD� NX6DODWRQDR� NRORDODR� KR�
NGDLFDW�HNPDRYD�%DD<\D�$VDROD��
�
WXPK,�$DND6D�NVDR�.URG,�N��6DNDOD�?�FD,I�VD,H7ODQDR�VDX�YDDW�NROD,��
YDDUD�SD`VD�\DD0YDU�VD�DD�N6D,�JDDMDYD8�6DNDOD�?�
PDD-D,�$D>��PDODD�VDD0JDW�$VDR�d�
S5TYD,FDD�SC�\DRN�%DDJD�SLYDa�$DKR��
3DD>�QD�YD5[DDFDR�SC�\DRN�SDQD�d�
YDDODXNDPD\D�SC�\DRN�VDPDXGCLNQDDUDd�
*DQDGD7�MD0JDODDW,OD�4DX#\DDFDD�SC�\DRN�S'GDd�
SC�\DRN�NXU1D�$DL1D�JDX1DJDX1D1DDUR�%DCPDUd�
KR�VDYD��$DPKD�ODDRND0QDD�YD0GQD,\D�$DKRW��
�
PDD-DR�YDL'OD�PDODD�VDD0JDW�$VDWd�
YDQDVSW,0PD4\DR�YDDKD1DDUD�MD,YDQDUVDd�
KD�PDD-\DD�6DU,UDW,OD�4DPDQ\DD0PD4D8QD�YDDKD1DD-\DD�U#WDVDDU.DFD�$DKR��
�
$DS1D�\DD�S5TYD,FDD�HN�%DDJD�$DKDRW�$DL1D�W,�$DSODD�HN�%DDJD�$DKR��
VDXJD04D,�IXODR�K,�$DSO\DD�%DDYD0'D0SCPDD1DR�$DKRW��
�
$VYDOD��KU,1D��JD�'�KR�GR.,OD�$DSODR�%DD`ED0G�$DKRW��
3DYD�WL6D.UR�,�NXU1DR�,�*DDR'R�KR�HNDFD�NX7X0EDDFDR�*D7N�$DKRW��
PDD-\DD�S8YD�MDD0FD,�YDD1D,�PDODD�VDD0JDW�$VDRd�
QDG\DD0YD�QD�YD�WODDYDDW8QD�YDDKD1DDUR�FDPDFDPD1DDUR�SD1D,d�
KR�I#W�SD1D,�QDVD8QD�WX-\DD�$DMDDREDD0F\DD�$DMDDRED0DFDR�U#W�$DKR��
WODDYDD0PD4\DR�%DXWDVDDU.R�S'1DDUR�SC�\DRN�SCLWLED0ED�$DSO\DD�S8YD�MDD0FD,�NDR1DW,WU,�$QDDR.,�NKD1D,�VDD0JDW�$VDR��
�
3DD1\DDFDD�S'VDDG�KD�WX-\DD�$DMD,FDD�.DSUS1DMD,FDD�$DYDDMD�$DKR��
QDG\DD�$DSO\DD�EDLK1D,�$DKRW��\DD�$DSOD,�WKDQD�%DDJDLYDWDW��
�\DD�$DSO\DD�KDR'\DD�YDDKDWDW�$DL1D�$DSO\DD�PDXODD0QDD�SDRVDWDW��
WXPK,�%DDYD0'D0SCPDD1DR��\DD0F\DDYDU�PDD\DD�NUD\DODD�KYD,��
�
PDD-DR�$DMDDREDD�PDODD�VDD0JDW�$VDWd�
KYDD�$QDPDDROD�$DKR��W,�VYDW�FDR�FD2WQ\D�VDYDD�0QDD�GRWR��
PDODD�SLKODD�6YDDVD�GR1DDU,�KYDD�PDD-DD�6DRYD7FDD�6YDDVD�VDXZD�NYDRW�*DRWR��
WXPK,�KYDD�$DL1D�MDPD,QD�YDRJD/,�SLYDaS1DR�MDSD\DODD�KYD,��
�\DD�MDDJDRYDU�H.DGD�PDD1D8VD�IXODD0PDX/R�VDXJD0L4DW�-DDODRO\DD�KYDRFDD�6YDDVD�*DR`�6DNROD��



�
6DRYD7FDD�UR'�>0L'\DQD�SX�<D�$DL1D�Va,��\DD0F\DD�MDLPDQD,0VDN7�QDDK,VDR�KDRW,ODdd�
$DL1D��\DD0FD,�VPD5W,�PK1DMDR�I#W�6DRWD0YD�QD�WU0JD1DDUD�H.DGD�PDR*D�HYD=,FD�UDK,OD��
WRYKD�$U1\DR�$DL1D�VDPDXGCLNQDDUR�UDKDW,OD�? 
PDD-\DD�ODDRND0PD4\DR�NDK,�FD2WQ\D�UDK,OD�ND�?�
PDD-\DD�S8YD�MDD0QD,�MDR�VDD0LJDWODR�$DKR��MDR�PDODD�PDDLKW,�$DKR��
NN,�,�SS55TTYYD,�D,�WWXXPPDDFFD,�D,�QQDDDDKK,�,�WWU�U�WWXXPPKK,�,�SS55TTYYD,D,FFDD�DD�$$0066D�D�$$DDKKDDWW����
�
PDD-\DD�$DMD,FDD�$DYDDMD�PDODD�VDD0JDW�$VDRd�
WXPKDODD�MDR�L6DNLYDODR�JDRODR�$DKR�WR�WXPDF\DD�PDXODD0QDD�L6DNYDD��
35TYD,�K,�WXPDFD,�PDDWD�$DKR��
MDDR�SCVD0JD�S5TYD,YDU�JDXGUROD�WDRFD�S5TYD,WODDYDU,OD�SC�\DRN�PDXODDYDU�JDXGUROD��
�
PDD-DR�$DL1D�PDD-\DD�S8YD�MDD0FDR�PK1D1DR�HRNDd�
WXPDF\DD�ODDRND0FDR�QD6D,ED�KR�$DPKDODD�HN�JD8=�$DKR��
VDYD��PK6D,0FD,�N�DOD�-DDOD,�WU�ND\D�*D'ROD��
MDRYKD�MD0JDOD,�*DDR'R�SD/,YD�EDQDW,ODd��
MDRYKD�MD0JDODDW,OD�VDX3W�NDQDRNDRSUR�PDD1DVDD0F\DD�*DDPD7�YDDVDDQDR�JDMDEDMD8QD�MDDW,OD��
�
MDRYKD�LKUYD,JDDU�SYD�WL6D.UR�WDUD0F\DD�MDD/\DD0QD,�$DF&DGOD,�MDDW,OD��
MDRYKD�-DX'XSR�QDDK,6D,�KDRW,OD��
MDRYKD�JD�'�QDDK,VDR�KDRW,OD��
MDRYKD�FDS/�*DDR'R�$DL1D�ED2OD�KR�$DSO\DD�$D\DX8<\DDW8QD�QDDK,VDR�KDRW,OD�WRYKD�ND\D�*D'ROD�?�
WRYKD�$DSODR�MDJD1DR�VD0SROD�$DL1D�NRYD/�VYDW�FDR�$LVW�YD�L7NLYD1\DDFD,�NRLYDODYDD1D,�4D'S'�FDDOD8�UDK,OD��
�
KR�$DS1DD�VDYDD�0QDD�PDDLKW,�$DKR�\DD�VDYD��JDDR<7,�$DSO\DD�U#WDSCPDD1DR�HNPDRND0QDD�MDDR'ODRO\DD�$DKRW��
$DS1D�$D\DX<\DDFDD�NDR6D�LYD1DW�QDDK,��
�\DD�NDR6DDFDD�$DS1D�I#W�HN�4DDJDD�$VDWDR��
$DS1D��\DD�NDR6DDODD�MDR�NDK,�N��
WR�$0LWPDW��$DS1D�VYDW�ODDFD�NUW�$VDWDR��
QDYDMDDW�EDDODN��\DDF\DD�$D>�F\DD��G\DDF\DD�]DR#\DDYDU�LMDWNR�SCRPD�NUWR�W:W�$DS1D�\DD�S5TYD,PDDWRYDU�SCRPD�NUWDR��

$DPK,�K,�MDPD,QD�WXPKDODD�LYDNOD,�WU�$DPK,�W,�MDSOD,�$DKR��\DDSCPDD1DRFD�W,�WXPK,�MDSD���

WXPKDODD�K,�MDPD,QD�M\DD�LVTDW,W�LPD/DOD,�W6D,FD�WXPDF\DD�VPD5W,W�W,�$.0'�UDK,OD�\DDFD,�ND/MD,�*\DD��

K,�MDPD,QD�YDDUR�$DL1D�QDG\DD�WXPDF\DD�PDXODD0F\DD�PDXODD0VDD],�MDWQD�NUD�$DL1D��

$DPK,�LWF\DDYDU�MDVDR�SRCPD�NUW�$DODDR�WVDRFD�WXPK,�NUD��

�

��


